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i Practice
8.6 For use with pages 589-595

Determine whether the given axvalue is a solution of the equation.

4 2 _ x , _3

. 3t ysa- 2 _g¥™2
4 2 _2(2)

22)-3 (24 (2)>-8

4 2 _ 3
4—-—“’__3-»3

2= z

2. 14T 2
t 2 _24-3 ~
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Solve the equation by éross multiplying. Check for extraneous solutions.

12
*FE,

2(X-3) = (X +)
AX=-6=X +2L
X -2

5. 3 x+7
X(X+7)=—6 X+6=0
X2+TX+6=0 Ix=-¢

OeIx)=0 yzo

x+1=x—3

T x—2 X
X(x+1)=(X=2 Yx~3)
XZ+X=X2- SX+6

7

xX-6=0 X—1=0
e(X—1)=0 X =
x—5 4 lj
-3  x+2

(X-BYXX*2)=—12
XZ%-3X-10=-|2
XZ-3X+Q2=0
(X=2Xx-1)=0
X-2=0 X-\=0
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1 _ 2
4. r+5  Tx

L (TX) = 2( X+5)
7XX= 2X +I10
EX =10

X=2|

21:+4 2

6_ =
x(2x+4) o(sx) 2X=0
2X% +4x = l(ox 2 2

2X%2-cx=0 °
2X(X-3)=0 xﬁ
(;zx+312x 2)=3x(x)

4X* -9 =32 %+ 3=0

Xz 0' O =-3
(X+3XX-3)=0 xgl

10. 6 =y+2

(ax-6Xx +2)= X(x—é,)
2xZ-2X -2 =X?%2 -cx
XZ% +4X -12=0
(X+eXx-2)=0
X+6=0 X=2=0

= eXtraneow’



